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Chapter 17: Decimals

Find the sum.

1.9.6+9.7 = 11. 9.7+1703 =
2.27+48-= 12. 041+19.1=
3.78+ 2614 = 13. 110+17.2 =
4.6.013+1.189 = 14, 176 +14.6 =
5.4.0+4.082 = 15. 1.08 + 0.042 =
6.84+95+= 16. 0.38 +11.3 =
7.3942 +16 = 17. 20.0+0.198 =
8.8.4+3.761= 18. 9.87 + 24.4 -
9.15+83= 19. 0.19+137 =
10. 6.2+9.7 = 20. 49+99.9-=
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Find the missing numbers:

11.

12.

13.

14,

15.

16.

17.

18.

19.

20. 0.17 +

9.6 +

4.9 +

8.1+

4.0+

=96 L -1.49=5.61
+6.3=147 2. -24=578
=19.3 3.9.43 - =0.63
+39:=41 4. -13=161
+8.9=-13.7 5. -6.8=15.79
=165 6.8.73 - =0.29
=734 7.8.5 - =3.92
+8.2=136 8. -7.3=98.91
+09=131 9. -6.87=13.19
=09 10. 7.98 - =1
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There are 4.5 litres of milk in a pot. The chef stirs in 2.5g of
sale and 1.2 litres of water. How much liquid is in the pot?

The chef took out 54.8g of butter but then found out that
he took out 6.9g of butter more than he need. How much
butter did he need?

The chef is making 10.5 batches of dinner rolls. For each
batch, he kneaded dough for 0.7 hours and let the dough rest

for 1.6 hours. Then he baked the dough for 0.4 hours. How
long does it take to make each batch of dinner rolls?
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